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1) FEHEEYUT D O CO HEHHE:
- P A E(1AFE) =270, 370Nm*/h, - P ARHAR(CO) =3.51Vol%, « A7 A& —E " H]/7=30,000kW
+ 1kmol =22.414Nm?, - CO,%7f-5&=44.001kg/kmol
OFEEE SRV O COHEHE=270,370(Nm*/h) X 3.51(Vol%) / 100 / 22.414(Nm¥/kmol) X 44001 (kg/kmol)

/30,000(KW) X 1000 = 621(g-COn/ki)

2) SRR
+ HAL—E A 1=30,000k03%, - HRERIEHEE=6.57T/h, - BREHER 63 =49, 254k0/kg
+ 1kJ=1/3600kW
@ 5T =30,000(kW)/ {6.57(T/h) X 1000 49,254(kd/kg) X 1/3600(KW/KJ)} X 100:33.4(%)
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- RERHE B=6.57T/h, « JREHIAI s G =49, 254k I/Kg. + 1kJ=1/3600kW
@7 25— AREE=6.57(t/h) X 1000 X 49,254(kJ/kg) X 1/3600(ki/kJ) =89,889(ki)
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& Jj A% —E - H77=30,000(kiV)
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« PEH AW E(IARFE) =270, 370mN/h,
- SRS N R ATRE =550°C (3% A — 7 — X FHIEL g 2 3%E1E)
- SYfEIFH BT AIREE=200'C K H A & — B LA A% OFEESH)
» P AR B E=1.428Kk)/ (NP + C) CRHEN AR A B FH L7 fE)
» 1kJ=1/3600KW
O A BN L —=270,370(Nn/h) X (550°C-200°C) X 1.428(kd/ (N - “C))
X 1/3600(kii/kJ) =37,536(KI)
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- JREHEE #=6.57T/h
OREHEHE=6.57 (T/h) X 24(FHfEl/H) X 365(H/H) =57,553T/4F
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CO2 HEH BN RN DB L, HAZ —E VEiRYET A SR E A LT-FRD, TR LF—RTF A%
FNTEEW - LET,

HH TR F— CO2HE IR %X CO2HE &
OH A ¥ — v kE 89,889k W 0.0495t-C02/6J | 140,320t-C02/4E
QFAE—v U HN 30,000k W 0.000509t-CO2/kW [ 133,765t-C02/4FE
@ H A EL AL 37,536k W 0.0495t-C02/GJ | 58,595t-C02/4F
@CO, Bk H & 1l sk 2 SR
_ - -52,040t-C02/4F
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- Bk /L F—=809,889K\, - CO2 HE1#£57=0.0495 t -C02/GI(%). + 1kW=3600kJ
SR EZN AT AP ERE OBEHRE A1
WAV REXIT A (ING)=0.0135t-C/GI=0.0135 X 44(C02 4yF-)/12(C 43+5) =0.0495t-C02/GJ
O] AL — 1 PREL Cor PRI BN
=89,889(Kilf) X 245/ H) X 365( H/4F) % 3600(kJ/KW)/1000000 X 0.0495(t-C02/GJ)  =140,320(t-C02/4F)
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QHENE (AL — L HCo HEH DR
=30,000(KW) X 241/ 1) X 365( H /4E) X 0.000509(t-CO/KW) =133, 765(t-C02/4F)
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- Bk AL —=37,536K\, - CO2 HEH1F#45=0.0495 t -C02/GJ. - 1KW=3600kJ
QP AR X B Co2 R
=37,536(Ki) X 245/ H) X 365( H/4F) % 3600(kJ/KW)/1000000 X 0.0495(t-C02/GJ)  =58,595(t-C02/4F)
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